
A -42
-7 � -6 = B 42

C -13

D 1

E None of these
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1. A 9
-4 � 5 = B -1

C 1

D -9

E None of these

2. F 16
-12 � 4 = G -16

H 8

J -8

K None of these

3. A 15

3 � -5 = B -2

C 2

D -15

E None of these

4. F 8

6 � -2 = G 4

H -8

J -4

K None of these

5. A 3
-5 � 8 = B 13

C -3

D -13

E None of these

6. F 46

44 � -2 = G -46

H 42

J -42

K None of these

7. A 12

5 – 7 = B 2

C -12

D 0

E None of these

8. F 2
-8 � 4 = G 4

H -4

J -2

K None of these

9. A -35
-5 � -7 = B 35

C 12

D -12

E None of these

10. F -8
-32 � 4 = G 8

H -28

J -36

K None of these
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11. A 54
-6 � 9 = B -54

C -3

D 3

E None of these

12. F 90
-96 � -6 = G -16

H 16

J -90

K None of these

13. A -7
-1 � -4 � 2 = B -1

C -5

D -3

E None of these

14. F -42
-6 � -7 = G 42

H -13

J 13

K None of these

15. A -7
-56 � -8 = B 9

C 7

D -9

E None of these

16. F -72
-86 � -14 = G -100

H 100

J 72

K None of these

17. A -3

12 � 16 � -1 = B -4

C -5

D -17

E None of these

18. F -84
-7 � 12 = G 84

H -5

J 5

K None of these

19. A -8
-88 � -11 = B -77

C 77

D 8

E None of these

20. F 34
-18 � -16 = G -2

H 2

J -34

K None of these


